Assignoent
LH: A:{l,&} 5 B:{I;&,B‘l/lf} V) C={4’/6}>
verify that Ax(BuC) = (A X.B)U(,.AX,C

- A ={'/¢52}
A x(BuC) B={1,2.3.4]

(Buc) = {'/‘3"3’476} C={s.6}
S Ax(BuC) = {1a2x {1,d.3.4.6]

= {(.,u)_,(uoz),(nz),(uq), G,¢), @0, G/R),
@.9.(2.0.(2.9} —0
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(A x B) U()érxc)
AxB ={ (1.0 @), (1:3), ) (2.D.(3.3). & 3)
Axc ={ 0.6 6), (].4) (&/@}
s (AxB O (AxC)= {(p 0,1/ ,(13), (1,49, (1.€), (2.1) ,(2,3),
(&/3) ) (;3?/4-)/ (& ’é)} ~—-—>®
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Foaom @ and @ |
A X(BUC) = (AxB) U (AxC) Hence itis ecaua@ :




2 Let some elements of AxB ase (1.3), (2,4)and
n(Ax8) =13. Is this possible 7 why 7

Ans) AXB = (f@/@
) . \—_—/’

— AXxB ={(',3>/(I,q_>/ (,5;,3)/(,’3,4.)}
2 paing
neaxB) =13, ik is nok possible
becaus€ N (AxB)= 4
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Anothes Zeqson was 13 is q poime numbe
theve is onlv I X3 o 13X}, fedoes nokt come

angy ofihed mulkiplicakions.



